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y = 0.0436x - 44.966 
R² = 0.0807 

y = 0.0246x - 35.989 
R² = 0.0836 

y = 0.0097x - 8.4503 
R² = 0.0163 

0

10

20

30

40

50

60
18

95

19
00

19
05

19
10

19
15

19
20

19
25

19
30

19
35

19
40

19
45

19
50

19
55

19
60

19
65

19
70

19
75

19
80

19
85

19
90

19
95

20
00

20
05

20
10

Pr
ec

ip
ita

tio
n 

(in
) 

Year 

Annual Precipitation- Indiana 

Annual

Spring Annual

Summer Annual

Linear (Annual)

Linear (Spring Annual)

Linear (Summer Annual)



y = 0.034x - 34.157 
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y = 0.0356x - 38.131 
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y = 0.0244x - 21.533 
R² = 0.055 

y = 0.0077x - 5.5504 
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y = 0.021x - 0.2088 
R² = 0.0131 

y = 0.0058x + 2.131 
R² = 0.0033 

y = -0.0038x + 19.02 
R² = 0.0018 
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y = 0.0222x - 4.8158 
R² = 0.0268 

y = 0.0148x - 17.564 
R² = 0.0411 

y = 0.0082x - 5.4636 
R² = 0.0146 
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y = 0.0226x - 12.776 
R² = 0.0377 

y = 0.0095x - 8.0431 
R² = 0.0206 

y = 0.0044x + 2.4917 
R² = 0.0031 
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